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 �� � �� �� 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
�� 
 �� ��� 
 �� �� ���� �!� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
��  �" ����  # ����!�  �!
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
�� � �$ �!�  � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
�� �!�  �!
 �!$ ��% � �!��  !��$ � � � �&!� 
 '�$ !��� �� �!� ��( � � � � � � � � � � � � � � � � � � � � � � � � � � 
�� � �� �
 � ' � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
�� �� �� " � ���
 ��  � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 
)� � �
 � � 
 ��� �#  � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �� 
�� �� �  � 
 
 �  �!� �� � � �" !# �  �� 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �� 
��� � �" �� � �!� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �� 
��� �
 �� ���� 
 ��!� � �� �!� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �� 
��� * !� � !�# � �� * ��* ! �+ �' � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �� 
��� � 
 � �" �� �
 � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �� 
���  ��* � ��� 
 �� �  � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �� 
��� � ���� 
 ��!� � �� �!� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �� 
��� � �$ � # 
  �� �  �� 
 �% � 
 # �� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �� 
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 �����
 � ���������������� � � � ������� �����

�� � �� �� � ��� � � � �� � ��

��� ���� ���� �� ��� � �� ��! ��� � �" # ���� � � ! � ��

•  , -.�/ 0 120 3�-.�40 �5�� 6�5, 7�4�� � 2� 5�0 1� �., � 23� �8 7�9 745�170 ��5, 7�-1.5�2/ 715�6� ��70 .:�0 1� �; 2-� 9 ��767�71� 7��

•  , 7�-1.5�2/ 715�., 0 33�1� 5�8 7�2.7� �6� ��42�4� .7.�� -667�715�6�� / �5, � .7�� 7.� �-8 7� �, 7�721� 7����5�� 0 11� 5�8 7�2.7� �0 .�0 �.0 675:�� 7< -� 7��

• �, 7� 9 �5, 7�0 443-� 0 5-� 1�3-/ -5.�8 76� �7�4�� � 77� -1= ��

��$ ���  �" %��� ��� ! " ��� ��

• �, 7� 9 �5, 7�.2443:�< � 350 = 7�-.�� � ��7� 5�8 76� �7�� � 117� 5-1= �5, 7�-1.5�2/ 715��

• � � � 1� 5� 7> 4� .7� 5� � ? 0 57�� � �� / � -.52�7@� 2.7� 5, 7� � � 15�� 337�� � 13:� ? -5, -1� 5, 7� � 47�0 5-1= � 3-/ -5.� 0 < � -� -1= � .2� � 71� 57/ 47�0 52�7� � , 0 1= 7.� ? -5, � , -= , �
0 5/ � .4, 7�-� �, 2/ -� -5:�5� �4�7< 715��6� �/ 0 5-� 1�� 6�� � 1� 71.0 5-� 1�

• � 0 �1-1= @�� -.� � 117� 5�0 33�737� 5�-� 0 3�� � 117� 5-� 1.�8 76� �7�0 1:�9 -1� �� 6�/ 0 -15710 1� 7��

• $ -5�5, 7�4�� 8 7�? , 7�7�-5�-.�1� 5�0 � � 7..-8 37�8 :�5, 7��1� �# .7��� , 7�-1.5�2/ 715�/ 2.5�1� 5�8 7�� 4717� ��

• �1�� 0 .7�� 6�60 -32�7�� ��60 235:�� 47�0 5-� 1�.71� �5, 7�-1.5�2/ 715�8 0 � 9 �5� �5, 7�� -.5�-8 25� ��� ��5� �A� -> 733�.���3�B�&.77�0 � � �7..(�? -5, �0 �� 750 -37� �� 7.� �-45-� 1�� 6�5, 7�
60 235��

• �� 1.-� 7��5, 7�/ 0 > -/ 2/ �� 2��715�? , -� , �� 0 1�8 7�0 443-7� �5� �70 � , ��730 :�&.77� 7� , 1-� 0 3�� 0 50 (��

• �1.2�7�5, 0 5�5, 7�? -�7.�6� ��4�� 8 7.C�3� 0 � .�0 1� �5, 7�4� ? 7��.2443:�0 �7�.740 �0 57� �0 1� �60 ��71� 2= , �6�� / �70 � , �� 5, 7�C�? -5, � 25�� �� ..-1= �� ��-157�5? -1-1= ��

• �1�� 0 .7�� 6�0 443-� 0 5-� 1.�-1�-1� 2.5�-0 3�71< -�� 1/ 715.C�5, 7�2.7�� 6�/ 0 -1.�6-357�.�&� 2��/ � � ��$  �(�-1�40 �0 3373�? -5, �-1� 2� 5-< 7�3� 0 � .�� � 23� �8 7�2.7623��

$� � �� �� � ������� ��" ��� �

" � � 73�& � ' () �C���> ���/ / �6� �/ 0 5C�-.�0 �/ -� �� 4�� � 7..� ��8 0 .7� �� � 15�� 337�C�0 8 37�5� �� � 15�� 3���57/ 47�0 52�7.�-1�0 1�-1� 7471� 715�? 0 :���
" * �� +�
, �� , �����
� -.� .2-50 8 37� 6� �� 0 443-� 0 5-� 1.� � 1� / 7� -2/ � � �� 3� ? � 57/ 47�0 52�7� �76�-= 7�0 5-1= � 21-5.�� �5� -.� 4�� < -� 7� � ? -5, � �� �730 :� � 25425.� 5� � � � 15�� 3�
� � / 4�7..� �C�� 76�� .5�D�? , -� , �� 0 1�8 7�7-5, 7��737� 5�-� 0 3�� ��, � 5�= 0 .��D�0 1� �5, 7�7< 0 4� �0 5� ��60 1.���5�-.�0 3.� �4�� < -� 7� �? -5, ����  ��� ��� ��4�� 8 7�-1425.C�� 17�6� ��
57/ 47�0 52�7�� � 15�� 3�5, 7�� 5, 7��� 17�5� �� � 15�� 3�5, 7�� 76�� .5�71� �57/ 47�0 52�7�� 6�5, 7�7< 0 4� �0 5� ����
" * �� , ���
-�, �����
� -.�.2-50 8 37� 6� ��0 443-� 0 5-� 1.�� 1�/ 7� -2/ �� ��1� �/ 0 3�57/ 47�0 52�7��76�-= 7�0 5-1= �21-5.C�? -5, �5-/ 7� �� 76�� .5���5E.�4�� < -� 7� �? -5, ����730 :�
� 25425�5� �� � 15�� 3�� � / 4�7..� ����5�-.�0 3.� �4�� < -� 7� �? -5, ����  ��� ��4�� 8 7�-1425.C�6� ��57/ 47�0 52�7�� � 15�� 3��
 , 7�7�0 �7�5? � �� -= -50 3�-1425.�&6�77�� � 150 � 5(�� � / 437573:�� � 16-= 2�0 8 37�8 :�40 �0 / 757���
 , 7�.50 1� 0 �� �  
 �� 25425�0 33� ? .�5, 7�2.7��5� �� � 117� 5C�8 :�/ 70 1.�� 6�0 �  
 ��� �)��7> 57�10 3�/ � � 237C�0 �� �-� ! �.� " ! �� � / 40 5-8 37�/ � 1-5� �-1= �.:.57/ �0 1� �
5� �4�� = �0 / / 7�5, 7�40 �0 / 757��3-.5�? -5, �5, 7�/ # ���0 �12��
�

3 � " �� ��� � " ! � ����� " � ���

�� " # ����� �� ����� ���4$5�

�

$ � �� 70 � , � .7� 5-� 1C� 5, 7� �7= 230 5-� 1� -.� 47�6� �/ 7� � 0 � � � �� -1= � 5� � 5, 7�
57/ 47�0 52�7� / 70 .2�7� � 8 :� -5.� � ? 1�5, 7�/ � .50 5�4�� 8 7�? -5, �0 �4� .-5-< 7�
� -667�715-0 3�6�� / �5, 7�.75�4� -15��
�6� 5, 7� 57/ 47�0 52�7� -1� �70 .7.� 0 1� � �70 � , 7.� .75� 4� -15�� &�(� � 432.�
� -667�715-0 3��&�(�5, 7�� � / 4�7..� ��-.�.50 �57� �0 1� �5, 71�52�17� �� 66�? , 71�
5, 7�57/ 47�0 52�7��70 � , 7.�5, 7�.75�4� -15�< 0 327�0 = 0 -1��

�1�� 0 .7�� 6�60 235�-1�5, 7�5, 7�/ � .50 5�4�� 8 7�5, 7�.50 �5�0 1� �.5� 4�� 6�5, 7�� � / 4�7..� ��0 �7�5-/ 7� �5, �� 2= , �40 �0 / 757�.�A��
�4$5B�0 1� �A�� �4$5B��

' � �� � ��" �

�� ���" ��� ���

$ � ��5, 7�, �����
���5? � �� 76�� .5�/ � � 7.�0 �7�0 < 0 -30 8 37�5, �� 2= , �5, 7�A�- �B�40 �0 / 757�@��
�- �6�
��� 76�� .5�? -5, �737� 5�-� 0 3�, 70 57���
�- �6��
�� ��, � 5�= 0 .���
 , 7�� 76�� .5�-157�< 0 3�-.�� � 15�� 3�8 :�/ 70 1.�� 6�40 �0 / 757��A�- B@�

��� 4�
�1� +�
� �
, �
���
�, � 7 ��* � � " �58� 8 7= -11-1= � � 6� � 76�� .5� � :� 37.�-.�.75�8 :�5, 7���-�9 ��-(�40 �0 / 757�.�� 2�-1= �5, 7�? � �9 -1= �� 0 :.�0 1� ���-�9 ��-(�
� 2�-1= �5, 7�, � 3-� 0 :.��
�
�5, 7�� 76�� .5�-.�/ 0 � 7�7< 7�:�A�- B�5-/ 7�
�-�5, 7�-157�< 0 3�A�� $ B�-.�� 0 3� 230 57�5, �� 2= , �� / 0 �5�� 76�� .5�0 3= � �-5, / �&� 13:�? , 71�5, 7�� � / 4�7..� ��-.�!� (�
� 5�5, 7�71� �� 6�� 76�� .5�5, 7�� �-4�5-/ 7�-.�� � 15�� 337� �5, �� 2= , �5, 7�A -�B�40 �0 / 757���
�
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 �����
 � ���������������� � � � ������� �����

$� ���" ��� �$�

$ � ��5, 7�, �����
�$��, 7�� 76�� .5�-157�< 0 3�-.�� � 15�� 3�8 :�/ 70 1.�� 6�40 �0 / 757��A�- $B@�? -5, ��� $ F-1�5, 7�� 76�� .5�-.�/ 0 � 7�7< 7�:�A�- $B�5-/ 7C�? -5, ��� $ �F� � �5, 7�
-157�< 0 3�A�� $ �B�-.�� 0 3� 230 57�5, �� 2= , �� / 0 �5�� 76�� .5�0 3= � �-5, / �&� 13:�? , 71�5, 7�� � / 4�7..� ����-.�!� (��
� 76�� .5� -.�47�6� �/ 7� � 5, �� 2= , � 0 � .-/ 437�.5� 4� � 6� 5, 7� � � / 4�7..� �����0 �0 / 757�� A�- $B� � � 15�� 3.� 5, 7� -157�< 0 3� 8 75? 771� � 76�� .5� � :� 37.C� ? , -37� -5.� 371= 5, � -.�
� � 15�� 337� �8 :�40 �0 / 757��A� - $B��

3 � � ��� " ��� �� �" � ��� ��� � ��" ��

� -667�715�9 -1� .�� 6�� 76�� .5.�0 �7�0 < 0 -30 8 37�6� ��70 � , �.7� 5-� 1��
 , 7��730 5-� 1�8 75? 771�� 76�� .5.�-.�.75�8 :�5, 7�����40 �0 / 757�@�����	
���
�	�����������	���
���730 5-� 1�8 75? 771�5, 7���.7� 5-� 1.�� 6�5, 7�� � 15�� 337��0 �7�0 < 0 -30 8 37C�5� �/ 0 10 = 7�� -667�715�9 -1� .�� 6�0 443-� 0 5-� 1.@��
�
�F�-1� 7471� 715�� 76�� .5.G��
����F�.0 / 7�� 76�� .5�.50 �5C�.:1� , �� 1-.7� �� 76�� .5�71� G��
���F�.0 / 7�� 76�� .5�.50 �5C�-1� 7471� 715�� 76�� .5�71� G��
���F�.7; 2715-0 3�� 76�� .5G��
�

•   dFS= in - independent defrosts  
 , 7�� 76�� .5.�� 6�5, 7���.7� 5-� 1.�� 6�� � 15�� 337��0 �7�� � / 437573:�-1� 7471� 715���
 �
, ��, �����
8�� 76�� .5�-157�< 0 3�-.�.75�8 :��- ��40 �0 / 757���
����
-�, �����
8�� 76�� .5�-157�< 0 3�-.�.75�8 :��- $�40 �0 / 757���
 , 7�� 76�� .5�-157�< 0 3�-.�� � 15�� 3�8 :�/ 70 1.�� 6�40 �0 / 757��A�- �4$5B@�
�
�5, 7�� 76�� .5�-.�/ 0 � 7�7< 7�:�A�- B�5-/ 7�
�-�5, 7�-157�< 0 3�A�� $ B�-.�� 0 3� 230 57�5, �� 2= , �� / 0 �5�� 76�� .5�0 3= � �-5, / �&� 13:�? , 71�5, 7�� � / 4�7..� ��-.�!� (�
�

" 0 120 3�� 76�� .5�0 � 5-< 0 5-� 1C�8 :�42., -1= �5, 7�� !� � �9 7:�&� 76�� .5��(�� ��# ��9 7:�&� 76�� .5��(��
� :�42., -1= �5, 7�� � ? 1�9 7:�� ��# 4�9 7:�6� ���.C�0 �� 76�� .5��7; 27.5�-.�= 717�0 57� �6� ��.7� 5-� 1���� �����7.47� 5-< 73:�� , 7�� 76�� .5�-157�< 0 3�-.��7D3� 0 � 7� ���
�

• dFS = StS – Same defrost start, end defrost synchronised or dFS = St -  Same defrost start, end defrost 
independent.  

 , 7� � 76�� .5� � 6� 5, 7���.7� 5-� 1.� � 6� � � 15�� 337��.50 �5.� 0 5� 5, 7�.0 / 7� 5-/ 7�� �- ��40 �0 / 757��.75.�5, 7�� 76�� .5�-157�< 0 3�6� ��8 � 5, �5, 7�.7� 5-� 1.�� , 7�� 76�� .5.�0 �7�
47�6� �/ 7� �0 5��7= 230 ��-157�< 0 3�-6��� $ ��F�-1�� ��0 � � � �� -1= �5� �5, 7�� / 0 �5� 76�� .5�0 3= � �-5, / �-6��� $ ��F�� � ��
�

� -5, �- ��6����� �7= 230 5-� 1��7.50 �5.� � 13:� ? , 71� � 76�� .5� -.� 6-1-., 7� � 6� �� 8 � 5, � 5, 7�.7� 5-� 1.�� , 7�.7� 5-� 1�5, 0 5�6-1-., 7.�5, 7�� 76�� .5�8 76� �7�5, 7�� 5, 7��.50 �5.�
� �-44-1= �5-/ 7�215-3�0 3.� �5, 7�� 5, 7��.7� 5-� 1�, 0 .�1� 5�6-1-., 7� �-5.�� 76�� .5���
" 0 120 3�� 76�� .5�0 � 5-< 0 5-� 1C�8 :�42., -1= �5, 7�� !� � �9 7:�&� 76�� .5��(�� ��# ��9 7:�&� 76�� .5��(��
� :�42., -1= �5, 7�� � ? 1�9 7:�� ��# 4�9 7:�6� ���.C�0 �� 76�� .5��7; 27.5�-.�= 717�0 57� �6� ��8 � 5, �5, 7�.7� 5-� 1.���0 1� ���� , 7�� 76�� .5�-157�< 0 3�-.��7D3� 0 � 7� ���
�

�� -5, �- ��6����70 � , �.7� 5-� 1��7.50 �5.��7= 230 5-� 1�0 .�.� � 1�0 .�-5.�� 76�� .5�-.�6-1-., 7� ���
�

• dFS = SE – sequential defrost 
 , 7�� 76�� .5�� 6���.7� 5-� 1.�-.�.:1� , �� 1-.7� ���- ��40 �0 / 757��.75.�5, 7�� 76�� .5�-157�< 0 3�6� ��8 � 5, �5, 7�.7� 5-� 1.��� 76�� .5.�0 �7�47�6� �/ 7� �0 5��7= 230 ��-157�< 0 3�-6�
�� $ ��F�-1�� ��0 � � � �� -1= �5� �5, 7�� / 0 �5� 76�� .5�0 3= � �-5, / �-6��� $ ��F�� � ��� 7� 5-� 1���� � 7.�-5.�� 76�� .5�6-�.5C�0 5�5, 7�71� �� 6�5, 7�� 76�� .5�� 6�.7� 5-� 1��C�.7� 5-� 1���
.50 �5.�-5.�� 76�� .5���
" 0 120 3�� 76�� .5�0 � 5-< 0 5-� 1C�8 :�42., -1= �5, 7�� !� � �9 7:�&� 76�� .5��(�� ��# ��9 7:�&� 76�� .5��(��
� :�42., -1= �5, 7�� � ? 1�9 7:�� ��# 4�9 7:�6� ���.C�0 �� 76�� .5��7; 27.5�-.�= 717�0 57� �6� ��8 � 5, �5, 7�.7� 5-� 1.���0 1� ���� , 7�� 76�� .5�-157�< 0 3�-.��7D3� 0 � 7� ���

: � ��� " � ���� ��; � ��� � " �� � � � ��4�� �%� �� ����" ��� ��5�

� 7� 5-� 1���, 0 .����730 :�5� �� � 15�� 3�7< 0 4� �0 5� ��60 1���
 , 7�60 1�� � 15�� 3�/ � � 7�-.�.737� 57� �8 :�/ 70 1.�� 6�5, 7�A 
��B�40 �0 / 757�@�
 
��6�.
�� 60 1.�? -33�.? -5� , �!� �0 1� �!$ $ �? -5, �5, 7�� � / 4�7..� ��0 1� �
���
�
�� 2�-1= �� 76�� .58G�
 
��6��.
� �60 1.�? -33��21�� � 15-12� 2.3:C�8 25�1� 5�� 2�-1= �� 76�� .5��
�

� 657��� 76�� .5C�5, 7�7�-.�0 �5-/ 7� �60 1�� 730 :�0 33� ? -1= �6� ��� �-4�5-/ 7C�.75�8 :�/ 70 1.�� 6�5, 7�A$ 1� �B�40 �0 / 757���
 
��6�.1�� 60 1.�? -33�.? -5� , �!� �0 1� �!$ $ �? -5, �5, 7�� � / 4�7..� ��0 1� �
�
�� 2�-1= �� 76�� .5G�
 
��6�.1�� 60 1.�? -33��21�� � 15-12� 2.3:�0 3.� �� 2�-1= �� 76�� .5�
�

� 1�0 � � -5-� 10 3�40 �0 / 757��A ���B�4�� < -� 7.�5, 7�.755-1= �� 6�57/ 47�0 52�7C�� 757� 57� �8 :�5, 7�7< 0 4� �0 5� ��4�� 8 7C�0 8 � < 7�? , -� , �5, 7�60 1.�0 �7�0 3? 0 :.�!$ $ �� , -.�
� 0 1�8 7�2.7� �5� �/ 0 9 7�.2�7�� -�� 230 5-� 1�� 6�0 -��� 13:�-6�, -.�57/ 47�0 52�7�-.�3� ? 7��5, 0 1�.75�-1�A$ � 5�B��
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 �����
 � ���������������� � � � ������� �����

(� ������ %�

�

��3  " # ��0 �%� �� � ��

�
 � �� -.430 :�0 1� �/ � � -6:�50 �= 75�.75�4� -15����� 2�-1= �4�� = �0 / / -1= �-5�.737� 5.�0 �40 �0 / 757��� ��-5�� � 16-�/ .�0 �< 0 327��

�
 � �� -.430 :�0 1� �/ � � -6:�50 �= 75�.75�4� -15���

�

-1�4�� = �0 / / -1= � / � � 7� -5� 8 �� ? .7.� 5, 7�40 �0 / 757�� � � � 7.� � �� � 7� �70 .7.� 5, 7� � -.430 :7� � < 0 327�� � :� , � 3� -1= � -5�4�7..7� � 6� ���.� 5, 7�� 76�� .5�6� ��
.7� 5-� 1����-.�.50 �57� �

�

�1�4�� = �0 / / -1= � / � � 7� -5� 8 �� ? .7.� 5, 7�40 �0 / 757�� � � � 7.� � �� -1� �70 .7.� 5, 7� � -.430 :7� � < 0 327�� � :� , � 3� -1= � -5�4�7..7� � 6� ���.� 5, 7� � 76�� .5� 6� ��
.7� 5-� 1���-.�.50 �57� ��

�
�5�0 � 5-< 0 57.�3-= , 5���

�
�5�0 � 5-< 0 57.�3-= , 5���

�
� 7� 5-� 1���� 50 1� D8 :�

�
� 7� 5-� 1���� 50 1� D8 :�

�

0 �%����� � �� � " ��� ��

�
+�

����
 � �3� � 9 �0 1� �213� � 9 �5, 7�9 7:8 � 0 �� ��

�
+ 

����
 � �7157��5, 7�4�� = �0 / / -1= �/ � � 7��

�
+�

�
 � �7> -5�5, 7�4�� = �0 / / -1= �/ � � 7��

��'  � �� � �� � �� �" # ������ ��

�

����� ��������� 	
������

� !� � �73.-2.�� 7= �77�

� !� � $ 0 , �71, 7-5�� 7= �77�

� !� � �� / 4�7..� ����� 1�
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 �����
 � ���������������� � � � ������� �����

� $ 
 � � * �� 
 � � 15-D., � �5�� :� 37�� 730 :�710 8 37� �6� ��� � / 4�7..� ����

� !� � �� / 4�7..� ����� 1�

� $ 
 � � * �� 
 � � 15-D., � �5�� :� 37�� 730 :�710 8 37� �6� ��� � / 4�7..� ����

� !� � � 76�� .5���-1�4�� = �7..�

� $ 
 � � * �� 
 � � �-4�5-/ 7�-1�4�� = �7..�6� ��.7� 5-� 1���

� !� � � 76�� .5���-1�4�� = �7..�

� !� � $ 0 1�710 8 37� �

� $ 
 � � * �� 
 � � �-4�5-/ 7�-1�4�� = �7..�

� !� � � 
 � �" �.-= 10 3�

��:  # �� �" ������� � ��� ��� %�" # ����" .���� " �

�2., �0 1� ��7370 .7�5, 7���" ��� ����" $�9 7:@�
5, 7�<������-�, 	��1�., � ? .�5, 7�30 8 73������ ����$�
5, 7��		�
�-�, 	��1�., � ? .�5, 7�� 75�4� -15�< 0 327�630 ., -1= �

 � �� , 0 1= 7�5, 7�� 75�< 0 327�42., �5, 7���������� �������? -5, -1���.��
 � �/ 7/ � �-.7�5, 7�17? �.75�4� -15�< 0 327�42., �5, 7���" ��� ����" $�9 7:�0 = 0 -1�� ��? 0 -5���.���

��( �# �� �" ���" � � " �� �� � � ! � ���� � ��" � �� �" # �����" ��� ����� ����" ��� �$�

 � �.50 �5�0 �� 76�� .5�6� ��5, 7�, �����
��@�42., �5, 7���� � �9 7:& (�6� ���.��

 � �.50 �5�0 �� 76�� .5�6� ��5, 7�, �����
�$@�42., �5, 7�! ��9 7:& (�6� ���.��

��=  # �� �" ���� " �� �" # ��/ �� �2��� � � � �" �� ����" �

 � �� , 0 1= 7�5, 7�40 �0 / 757�E.�< 0 327�� 47�0 57�0 .�6� 33� ? .@�
�157��5, 7���� = �0 / / -1= �/ � � 7�8 :�4�7..-1= �5, 7������0 1� ���� � �9 7:�6� ���.�
 , 7�� � 15�� 337��? -33�., � ? �5, 7�6-�.5�40 �0 / 757��4�7.715�-1�5, 7�����/ 712@�
� � 55� / �/ 712@�30 8 73�
# 447��/ 712@�< 0 327��
" ���> ��@���7..���" �? �! ��� ��? 0 -5���.�? -5, � 25�4�7..-1= �0 �9 7:��

��@  # �� �" ���� " �� ��� ��� � � � �" �� �����" �/ �� $2�

 � �0 � � 7..�40 �0 / 757�.�-1�A�
$B@�
�157��5, 7�A���B�37< 73��
� 737� 5�A���B�H�A�� � B�40 �0 / 757��0 1� �4�7..�5, 7�A��" �B�9 7:���

 , 7�630 ., -1= �< 0 327�A��D�D�B�-.�� -.430 :7� ��2.7������� �������5� �-1425�5, 7�.7� 2�-5:�� � � 7�0 1� �� � 16-�/ �5, 7�6-= 2�7�8 :�4�7..-1= �A��" B�9 7:���
�

 , 7�.7� 2�-5:�� � � 7�-.�A���B��
�6�5, 7�.7� 2�-5:�� � � 7�-.�� � ��7� 5�5, 7�0 � � 7..�5� �A���B�-.�710 8 37� �8 :�4�7..-1= �A��" �B�� 1�5, 7�30 .5�� -= -5��
�

� 1� 5, 7��4� ..-8 -3-5:�-.�5, 7�6� 33� ? -1= @�

� 657��.? -5� , -1= �!� �5, 7�-1.5�2/ 715C�? -5, -1����.7� � 1� .C�42., ���" ��? ������9 7:.�5� = 75, 7��6� ���.@�5, 7�����/ 712�? -33�8 7�7157�7� ��

��A  # �� �" ��� �; ��� ��� � � � �" �� � � �� �" # ��/ �� $2�� �� ! �" ��/ �� �2�� � ��; ����; �� �� ��

�0 � , �40 �0 / 757��4�7.715�-1�A�
$B�" �� # �� 0 1�8 7��7/ � < 7� �� ��425�-15� �A�
�BC�2.7��37< 73C�8 :�4�7..-1= �/ ��" ��? �����2���
�1�A�
$2�? , 71�0 �40 �0 / 757��-.�4�7.715�-1�A�
�B�5, 7�� 7� -/ 0 3�4� -15�
 ��� 6�5, 7�8 � 55� / �� -.430 :�-.�� 1��

���)  # �� �" ���# � � � ��� ��� � � � �" �� ��

 � �� , 0 1= 7�0 �40 �0 / 757��< 0 327�� 47�0 57.�0 .�6� 33� ? .@�
�157��5, 7���� = �0 / / -1= �/ � � 7��
� 737� 5�5, 7��7; 2-�7� �40 �0 / 757���
��7..�5, 7�A��" �B�9 7:�0 1� �5, 7�< 0 327�.50 �5.�8 3-19 -1= ��
# .7�A! �B�� ��A��� � B�5� �� , 0 1= 7�-5.�< 0 327��
��7..�A��" �B�5� �.5� �7�5, 7�17? �< 0 327�0 1� �/ � < 7�5� �5, 7�6� 33� ? -1= �40 �0 / 757���
�

" ���& �" @���7..���" ��? ������� ��? 0 -5���.�? -5, � 25�4�7..-1= �0 �9 7:��
� �" �@�5, 7�.75�< 0 327�-.�.5� �7� �7< 71�? , 71�5, 7�4�� � 7� 2�7�-.�7> -57� �8 :�? 0 -5-1= �5, 7�5-/ 7D� 25�5� �7> 4-�7��
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 �����
 � ���������������� � � � ������� �����

���� # �� �" �����0 �" # ��0 �%� �� � ��

�

+ 774�4�7..7� �6� ��/ � �7�5, 0 1���.�5, 7���������0 1� ������9 7:.��
 , 7�A�� B� / 7..0 = 7�? -33�8 7�� -.430 :7� �0 1� �5, 7�9 7:8 � 0 �� �? -33�8 7�3� � 9 7� ��� 5�5, -.�4� -15�-5�? -33�8 7�4� ..-8 37�� 13:�5� �
.77�5, 7�.75�4� -15.��
�6�0 �9 7:�-.�4�7..7� �/ � �7�5, 0 1��.�5, 7�A�� B�/ 7..0 = 7�? -33�8 7�� -.430 :7� ��

���$ " ��! � ���0 �" # ��0 �%� �� � ��

+ 774�4�7..7� �5� = 75, 7��6� ��/ � �7�5, 0 1��.�5, 7���������0 1� ������9 7:.C�5-33�5, 7�A��
B�/ 7..0 = 7�? -33�8 7�� -.430 :7� ��

���3  �� B�  � ! � �" ��� �C�# �� �" ���� �" �# ��� �� � ���  �" # ����� " � ����� �

�6�5, 7�621� 5-� 1�-.�710 8 37� �&40 ����
 61��(C�8 :�4�7..-1= �5, 7���" ��9 7:�6� ��/ � �7�5, 0 1��.�5, 7�� � 15�� 337��-.�.? -5� , 7� �!$ $ �� , 7�.50 1� D8 :�621� 5-� 1�.? -5� , 7.�
!$ $ �0 33�5, 7��730 :.�0 1� �.5� 4.�5, 7��7= 230 5-� 1��� 2�-1= �5, 7�.50 1� �8 :�-6�0 �/ � 1-5� �7� �21-5�-.�� � 117� 57� C�-5�� � 7.�1� 5��7� � �� �5, 7�-1.5�2/ 715�� 0 50 �0 1� �0 30 �/ .�
 � �.? -5� , �5, 7�-1.5�2/ 715�� 1�0 = 0 -1�4�7..�5, 7�� � ��9 7:�6� ���.��
�

� �" ��8�� , 71�5, 7�-1.5�2/ 715�-.�21� 7��� 50 1� D8 :C�0 33�5, 7��730 :.�0 �7�21� 7��4� ? 7��.2443:��� � 1E5�� � 117� 5�0 1:�3� 0 � .�5� �5, 7�1� �/ 0 3�� 3� .7� �� � 150 � 5�� 6�5, 7�
�730 :.���
� �" �$8�� -5, �5, 7�-1.5�2/ 715�-1�.50 1� D8 :C�-5E.�4� ..-8 37�5� �.77�0 1� �/ � � -6:�5, 7�.75�4� -15.�0 1� �7157��5, 7�4�� = �0 / / -1= �/ � � 7��

= � �� � � � �" �� ����" �

��  �� �� " �� ���

# 1�� ��++�
�
�����8� &�C�I ��C�J�G� �I ��J$ (@� �157�< 715-� 1� � -667�715-0 3� 6� �� .75� 4� -15�C� 0 3? 0 :.� 4� .-5-< 7�� �� / 4�7..� ��� �25� �� � -.� � 75� �� -15� �32.�
� -667�715-0 3��&* :�(���� / 4�7..� ����25�!#  �-.�? , 71�5, 7�57/ 47�0 52�7��70 � , 7.�5, 7�.75�4� -15���

# 1$� ��++�
�
����$8� &�C�I ��C�J�G� �I ��J$ (@� �157�< 715-� 1� � -667�715-0 3� 6� �� .75� 4� -15�C� 0 3? 0 :.� 4� .-5-< 7�� �� / 4�7..� ��� �25� �� � -.� � 75� �� -15�� �32.�
� -667�715-0 3��&* :�(���� / 4�7..� ����25�!#  �-.�? , 71�5, 7�57/ 47�0 52�7��70 � , 7.�5, 7�.75�4� -15���

� �� ! �� " ��� �C����" ��� ���

���� � �
�����, ���	��
��������8�&D��C�J�÷÷÷÷� � �G�D�)J$ I � � �(�� 75.�5, 7�/ -1-/ 2/ �0 � � 7450 8 37�< 0 327�6� ��5, 7�.75�4� -15���
! ��� � �> �����, ���	��
��������8�&� � �÷÷÷÷���J�G�� � �I ���J$ (�� 75�5, 7�/ 0 > -/ 2/ �0 � � 7450 8 37�< 0 327�6� ��.75�4� -15���
�-��� ���	��, �����D ����
�-���1��+�, �����
������, ��
���	8�&�I ����/ -1(� , -.�621� 5-� 1�-.�710 8 37� �0 5�5, 7�-1-5-0 3�.50 �5�24�� 6�5, 7�-1.5�2/ 715�0 1� �-1, -8 -5.�

0 1:�� 25425�0 � 5-< 0 5-� 1�� 6�5, 7�.7� 5-� 1���6� ��5, 7�47�-� � �� 6�5-/ 7�.75�-1�5, 7�40 �0 / 757���&
 -= , 5�� 0 1�? � �9 (�
� ��� � 
��., * �
���1����-���1�+�
����	
�, , �
�8�&�I ���/ -1(�-157�< 0 3�8 75? 771�5, 7�� � / 4�7..� ���.5� 4�0 1� �5, 7�6� 33� ? -1= ��7.50 �5��
��
��� ���	
�, , �
���� ������7 ��* �+����1�	
�<��8�&�I ����/ -1(�5-/ 7�� 2�-1= �? , -� , �5, 7�� � / 4�7..� ���-.�0 � 5-< 7�-1�� 0 .7�� 6�60 235:�5, 7�/ � .50 5�4�� 8 7��

� -5, ��!1F��� � / 4�7..� ���-.�0 3? 0 :.�!$ $ ��
�� ��� ���	
�, , �
���  ������7 ��* �+����1�	
�<��8�&�I ����/ -1(�5-/ 7�� 2�-1= �? , -� , �5, 7�� � / 4�7..� ��-.�� 66�-1�� 0 .7�� 6�60 235:�5, 7�/ � .50 5�4�� 8 7��� -5, �

�!$ F��� � / 4�7..� ��-.�0 3? 0 :.�0 � 5-< 7��
�# �� 0 �
-��+������
�+�
�, �����
��8����F�� � � 3-1= E�# ��6��, 70 5-1= �
�

� �� ! �� " ��� �C����" ��� �$�

��$� � �
�����, ���	��
�$������8�&D��C�J�÷÷÷÷� � �G�D�)J$ I � � �(�� 75.�5, 7�/ -1-/ 2/ �0 � � 7450 8 37�< 0 327�6� ��5, 7�.75�4� -15���
! �$� � �> �����, ���	��
�$������8�&� � �÷÷÷÷���J�G�� � �I ���J$ (�� 75�5, 7�/ 0 > -/ 2/ �0 � � 7450 8 37�< 0 327�6� ��.75�4� -15���
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���=  ���  �� ! � � � ����� �! " �.��" � � " ��� � ��" �4� �H�� $H��� 5�

�5�7> 7� 257.�0 �� 76�� .5�-6�5, 7�7�0 �7�5, 7��-= , 5�� � 1� -5-� 1.C��7.47� 5-< 73:�6� �@�- �@��.7� 5-� 1��G�- $@�.7� 5-� 1��G�-� @�8 � 5, �5, 7�.7� 5-� 1.���
� 657��5, 7�� 76�� .5�-.�6-1-., 7� C�5, 7�1� �/ 0 3��7= 230 5-� 1�? -33��7.50 �5�� 13:�-6�5, 7�� -= -50 3�-1425�-.�� -.0 8 37� �� 5, 7�? -.7�5, 7�-1.5�2/ 715�? -33�? 0 -5�215-3�5, 7�A" � 6�B�0 1� �
A" � $ �B�.0 675:�5-/ 7�-.�7> 4-�7� ��

���@  ���  �� ! � � � ����� �! " �.��� �� �" ���� B�  �4� �H�� $H���  5�

 , -.�621� 5-� 1�0 33� ? .�5� �.? -5� , �!� �0 1� �!$ $ �0 �.7� 5-� 1.�� 6�5, 7�-1.5�2/ 715�� ��5, 7�? , � 37�-1.5�2/ 715�0 � � � �� -1= �5� �5, 7�6� 33� ? -1= �.755-1= @�� �@��.7� 5-� 1���G���
� $@�.7� 5-� 1��G��
 @�-5�� � 215.�6� ��8 � 5, �5, 7�.7� 5-� 1.��� , 71�5, 7�� -= -50 3�-1425�-.�� 7D0 � 5-< 0 57� C�5, 7�� � ��7.4� 1� -1= �.7� 5-� 1��7.50 �5.�? � �9 -1= ��

���A  ���  �� ! � � � ����� �! " �.��� �� � %��� ; �� � �4��5�

 , 7��17�= :�� 0 < -1= �621� 5-� 1�0 33� ? .�5� �� , 0 1= 7�5, 7�.75�4� -15�< 0 327�0 .�5, 7��7.235�� 6�5, 7�� � �K * �� ��6� ��.7� 5-� 1�0 1� �� � ��K �* �� ��6�� �.7� 5-� 1���� , -.�
621� 5-� 1�-.�710 8 37� �215-3�5, 7�� -= -50 3�-1425�-.�0 � 5-< 0 57� ��

��$)  ��� �" � ���� �! " ������ � �" %��

 , 7�� -= -50 3�-1425.�4� 30 �-5:�� 7471� .�� 1�A���B�0 1� �A�$�B�40 �0 / 757�.@����@�5, 7�� -= -50 3�-1425�-.�0 � 5-< 0 57� �8 :�� 3� .-1= �5, 7�� � 150 � 5G�� ��� @� 5, 7� � -= -50 3� -1425� -.�
0 � 5-< 0 57� �8 :�� 471-1= �5, 7�� � 150 � 5�
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 �����
 � ���������������� � � � ������� ������

A � �� �" � ��� " ��� �� � ��� �! � " �� � �

 , 7� 57/ 47�0 52�7� �0 1= 7� 0 33� ? 7� � 6� �� � � ��7� 5� � 47�0 5-� 1� -.� �� D� ��� J��� � < � -� � 430 � 7.� .28 L7� 5� 5� � .5�� 1= � < -8 �0 5-� 1.C� � � ��� .-< 7� = 0 .7.C� 7> � 7..-< 7� � -�5� � ��
, 2/ -� -5:�� , 7�.0 / 7��7� � / / 71� 0 5-� 1.�0 443:�5� �4�� 8 7.��
 75�5, 7�0 -��� -�� 230 57�8 :�5, 7�� � � 3-1= �, � 37.�� , 0 19 .�5� �5, 7�� 0 .7C�& �# $() �/ � � 73�� 0 1�8 7�40 173�� ��
? 0 33�/ � 2157� ��� 77�5, 7�6� 33� ? -1= �-1.5�2� 5-� 1.�6� ��� 750 -3.��
�

� ��

� �

��

�
�

$ �
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)��

������J

���

�
$ -= ��� 

��$� � � ���� �! � " �� � �

�� # 1.� �7? �5, 7���6�� 150 3�.� �7? .�&$ -= ���C�� C�� C�$ C�
 (�0 1� ��7/ � < 7�5, 7�� � < 7��&$ -= ���C��(��
�� # 1.� �7? �5, 7���.� �7? .�&$ -= ���C�� C��(�5, 0 5�9 774�� � 117� 57� �5, 7�6�� 150 3�0 1� �3� ? 7��40 �5.�� 6��� � 3�" 0 57�0 1� �.740 �0 57�5, 7���40 �5.��
�� " 0 9 7�5, 7�4�� 47��, � 37.�6� ��� 0 8 374�7..7.�� ��4-474�7..7.�2.-1= �5, 7�� 715�7.�.-= 17� �-1�5, 7�8 � 55� / �� � < 7��� 6�5, 7��� � 3�" 0 57C�&$ -= ���C�* C��C�(�� , 71�

/ 0 9 7���, � 37.�-1�5, 7�? 0 33C�0 .�-1� -� 0 57� �-1�&$ -= ���C�
 C�" C�� (C�5� �6-> �5, 7��� � 3�" 0 57��
�� $ -> �5, 7�� 0 8 374�7..7.�0 1� �5, 7�4-474�7..7.���
�� �1.7�5�5, 7�? 0 33D12= .C�� � 150 -17� �-1�5, 7�9 -5C�-15� �5, 7�, � 37.�/ 0 � 7�-1�5, 7�? 0 33�� , 71�2.7�5, 7�� D�-1= .�0 1� �6-> �5, 7�8 0 � 9 �40 �5�� 6�5, 7��� � 3�" 0 57�&$ -= ���C�
 C�

" C�� (�8 :�/ 70 1.�� 6�5, 7���.� �7? .�5� �5, 7�? 0 33�-5.736���
�� �1.7�5�5, 7�? -�-1= �� 0 8 37.�-1�� 0 8 374�7..7.�� ��-1�5, 7�4-474�7..7.��
�� " � 215�5, 7�6�� 150 3�40 �5�2.-1= �5, 7�4�7< -� 2.���.� �7? .�$ -= ���C�� C��C�$ C�
 ��&� � �1� 5�4�7..�7> � 7..-< 73:�-1�� �� 7��5� �0 < � -� �430 .5-� �� 76� �/ 0 5-� 1(��
)� � 657��� � 117� 5-1= �5, 7�? -�7.�5� �5, 7�57�/ -10 3�8 3� � 9 .�� 3� .7�5, 7�� � < 7��&$ -= ���C�� (�0 1� �6-> �-5�8 :�5, 7�.� �7? .��

��$$ �� � ���� �! � " �� � �

�� " 0 9 7�0 �, � 37�-1�5, 7�40 173�? -5, �� -/ 71.-� 1.�� 7.� �-8 7� �-1�$ -= ����&.-/ 43-6-7� (�� ��$ -= ����&� � / 43757� (�
�� # 1.� �7? �5, 7���6�� 150 3�.� �7? .�&$ -= ���C�� C�� C�$ C�
 (�0 1� ��7/ � < 7�5, 7�� � < 7��&$ -= ���C��(��
�� # 1.� �7? �5, 7���.� �7? .�&$ -= ���C�� C��(�5, 0 5�9 774�� � 117� 57� �5, 7�6�� 150 3�0 1� �3� ? 7��40 �5.�� 6��� � 3�" 0 57�0 1� �.740 �0 57�5, 7���40 �5.��
�� �25�6�� / �5, 7�8 0 � 9 �40 �5�� 6�5, 7��� � 3�" 0 57�5, 7�5775, �-1� -� 0 57� �-1�$ -= ���C�� ���
�� " 0 9 7�5, 7�4�� 47��, � 37.�6� ��� 0 8 374�7..7.�� ��4-474�7..7.�2.-1= �5, 7�� 715�7.�.-= 17� �-1�5, 7�8 � 55� / �� � < 7��� 6�5, 7��� � 3�" 0 57C�&$ -= ���C�* C��C�(��
�� $ -> �5, 7�� 0 8 374�7..7.�0 1� �5, 7�4-474�7..7.���
�� �1.7�5�5, 7�? -�-1= �� 0 8 37.�-1�� 0 8 374�7..7.�� ��-1�5, 7�4-474�7..7.��
)� M � -1� 5, 7� 8 0 � 9 � 0 1� � 6�� 150 3�40 �5.C� ? -5, � 5, 7�40 173�-1�5, 7�/ -� � 37C�0 1� �6-> �5, 7/ �.� �7? -1= ��5, 7���.� �7? .�50 9 71�4�7< -� 2.3:�0 ? 0 :�&� -/ 71.-� 1.��> ���

/ / (C�-1�5, 7�, � 37.��� 6��$ -= ���C�� C�� C�� C����" 0 > -/ 2/ �40 173�5, -� 9 17..@��/ / ��
�� � 657��� � 117� 5-1= �5, 7�? -�7.�5� �5, 7�57�/ -10 3�8 3� � 9 .�� 3� .7�5, 7�� � < 7��&$ -= ���C�� (�0 1� �6-> �-5�8 :�5, 7�.� �7? .��
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�) � ��� �� ���� ��

��� )�

��
�

�

��� ����" � ��� ����� � ��" ��� ��

 , 7�-1.5�2/ 715.�0 �7�4�� < -� 7� �? -5, �.� �7? �57�/ -10 3�8 3� � 9 �5� �� � 117� 5�� 0 8 37.�? -5, �0 �� �� ..�.7� 5-� 1�24�5� ��C��/ / ���* 70 5D�7.-.50 15�� 0 8 37.�, 0 < 7�5� �8 7�2.7� ��
� 76� �7� � � 117� 5-1= � � 0 8 37.� / 0 9 7� .2�7� 5, 7� 4� ? 7�� .2443:� � � / 43-7.� ? -5, � 5, 7� -1.5�2/ 715E.� �7; 2-�7/ 715.�� � 740 �0 57� 5, 7� 4�� 8 7� � 0 8 37.� 6�� / � 5, 7� 4� ? 7��
.2443:�� 0 8 37.C�6�� / �5, 7�� 25425.�0 1� �5, 7�4� ? 7��� � 117� 5-� 1.��� � �1� 5�7> � 77� �5, 7�/ 0 > -/ 2/ �� 2��715�0 33� ? 7� �� 1�70 � , ��730 :C�-1�� 0 .7�� 6�, 70 < -7��3� 0 � .�2.7�
0 �.2-50 8 37�7> 57�10 3��730 :��

��$3  �� �� ����� � ��" ��� ��

 , 7�4�� 8 7.�., 0 33�8 7�/ � 2157� �? -5, �5, 7�8 238 �24? 0 �� .�5� �4�7< 715�� 0 / 0 = 7.�� 27�5� �� 0 .20 3�3-; 2-� �-16-35�0 5-� 1���5�-.��7� � / / 71� 7� �5� �430 � 7�5, 7�5, 7�/ � .50 5�
4�� 8 7�0 ? 0 :�6�� / �0 -��.5�70 / .�5� �� � ��7� 53:�/ 70 .2�7�5, 7�0 < 7�0 = 7��� � / �57/ 47�0 52�7��

�$� # �� �" ��! ���" # ��# �" �0 �%��

��$'  # �� �" ���� �� � � � �� �# �" �0 �%� � �� �" # ���� �" � ! � �� " �4! ���� �5�

�� ��� = �0 / �� 17�� � 15�� 337��? -5, �5, 7�6�� 15�9 7:40 � ��

�� � , 71�5, 7�� � 15�� 337��-.�!� C�-1.7�5�5, 7�A# ���J �1B�0 1� �42., ������9 7:G�5, 7��K ���K �/ 7..0 = 7�0 4470 �.�6� 33� ? 7� �0 �8 :�630 ., -1= �/ �
-2�
�� �2., �A��" 2�9 7:�0 1� �5, 7��
-�? -33�.5� 4�630 ., -1= ��
��  2�1�!$ $ �5, 7�-1.5�2/ 715��7/ � < 7�5, 7�/ # ���0 �12H�5, 71�52�1�-5�!� �0 = 0 -1��
�

� �" �@�5, 7�A�

B�/ 7..0 = 7�-.�� -.430 :7� �6� ��60 -37� �4�� = �0 / / -1= ���1�5, -.�� 0 .7�42., �0 = 0 -1������9 7:�-6�:� 2�? 0 15�5� ��7.50 �5�5, 7�243� 0 � �0 = 0 -1�� ���7/ � < 7�5, 7�
A# ���J �1B�5� �0 8 � �5�5, 7�� 47�0 5-� 1��

��$:  # �� �" ���� �� � � � �� � ��� �" � ! � �� " �! ��� � �� �# �" �0 �%�4��� � ��� �5�

��  2�1�!$ $ �5, 7�-1.5�2/ 715��
�� �1.7�5��0 �	
�� 
����-�/ # ���0 �12��
����* ��: ���� �
���	������0 1� �5, 71�52�1�5, 7��� 15�� 337��!� ��
�� � 25� / 0 5-� 0 33:� 5, 7�40 �0 / 757�� 3-.5� � 6� 5, 7� / # ��� 0 �12� -.� � � ? 13� 0 � 7� � -15� � 5, 7��� 15�� 337�� / 7/ � �:C� 5, 7�A-��B� / 7..0 = 7� -.� 8 3-19 -1= � 6� 33� ? 7� � 0 � 8 :�

630 ., -1= �/ �
-2��
�� � 657�����.7� � 1� .�5, 7�-1.5�2/ 715�? -33��7.50 �5�? � �9 -1= �? -5, �5, 7�17? �40 �0 / 757�.���
�� �7/ � < 7�5, 7�/ # ���0 �12���
�

� �" ��5, 7�/ 7..0 = 7�A�

B�-.�� -.430 :7� �6� ��60 -37� �4�� = �0 / / -1= ���1�5, -.�� 0 .7�52�1�5, 7�21-5�� 66�0 1� �5, 71�� 1�-6�:� 2�? 0 15�5� ��7.50 �5�5, 7�� � ? 13� 0 � �0 = 0 -1�� ��
�7/ � < 7�5, 7�A# ���J �1B�5� �0 8 � �5�5, 7�� 47�0 5-� 1��

�3 � � �� � � ���� � � ���

� �, , �� �� ���, �� ���	��, �

A��B�  , 7�/ � .50 5��4�� 8 7�60 -32�7�
� 30 �/ � � 25425� !� G� �� / 4�7..� ��� � 25425� 0 � � � �� -1= � 5� � 40 �0 / 757�.� A�!1�B� 0 1� �
A�!$ �B�

A��B�  , 7�/ � .50 5��4�� 8 7�60 -32�7�
� 30 �/ � � 25425� !� G� �� / 4�7..� ��� � 25425� 0 � � � �� -1= � 5� � 40 �0 / 757�.� A�!1�B� 0 1� �
A�!$ �B�

A��B� �< 0 4� �0 5� ��4�� 8 7�60 -32�7� � 30 �/ �� 25425�!� G�!5, 7��� 25425.�21� , 0 1= 7� �

A* � B� * -= , �57/ 47�0 52�7�0 30 �/ � !25425.�21� , 0 1= 7� �

A
 � B� 
 � ? �57/ 47�0 52�7�0 30 �/ � !25425.�21� , 0 1= 7� �

A��B� � � / 7�/ 7/ � �:�4�� 8 37/ .� � 30 �/ �� 25425�!� G�!5, 7��� 25425.�!$ $ �

A� � B� � � � ��.? -5� , �0 30 �/ � !25425.�21� , 0 1= 7� �
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A�� 
 B� �> 57�10 3�0 30 �/ � !25425.�21� , 0 1= 7� �

A8 � 
 B� � 7�-� 2.�7> 57�10 3�0 30 �/ � �7= 230 5-� 1�� 25425.�� 70 � 5-< 0 57� �

A�!$ B� + 7:8 � 0 �� �3� � 9 7� � !25425.�21� , 0 1= 7� �

A�!1B� + 7:8 � 0 �� �213� � 9 7� � !25425.�21� , 0 1= 7� �
�

 , 7�0 30 �/ �/ 7..0 = 7�-.�� -.430 :7� �215-3�5, 7�0 30 �/ �� � 1� -5-� 1�-.��7� � < 7�:��
� 33�5, 7�0 30 �/ �/ 7..0 = 7.�0 �7�., � ? 7� �0 357�10 5-1= �? -5, �5, 7��� � / �57/ 47�0 52�7�7> � 745�6� ��5, 7�A��B�? , -� , �-.�630 ., -1= �� � ��7.75�5, 7�A��B�0 30 �/ �0 1� ��7.50 �5�
5, 7�1� �/ 0 3�621� 5-� 1-1= �4�7..�0 1:�9 7:C�5, 7�A
��B�/ 7..0 = 7�-.�� -.430 :7� �6� ��0 8 � 25��.��

��$( ����� ��� � �� ! L L �� �

!1� 7�5, 7�0 30 �/ �.-= 10 3�-.�� 757� 57� �5, 7�8 2N N 7��� 0 1�8 7�.-371� 7� �8 :�4�7..-1= �0 1:�9 7:���

��$=  �/ ��2�� �� � � �

 , 7�������-1.5�2/ 715.�0 �7�4�� < -� 7� �? -5, �0 1�-157�10 3�� , 7� 9 �6� ��5, 7�� 0 50 �-157= �-5:��� 30 �/ �A��B�630 ., 7.�? , 71�0 �60 -32�7�-1�5, 7�/ 7/ � �:�� 0 50 �� � � 2�.���1�
.2� , �� 0 .7.�5, 7�0 30 �/ �� 25425�-.�710 8 37� ��

��$@  � �� � � �� ���; �� %�

��� 8 7�0 30 �/ .�@�A��B�&4�� 8 7��60 235:(C�A�$B�0 1� �A�3 BG�5, 7:�0 25� / 0 5-� 0 33:�.5� 4���.�0 657��5, 7�4�� 8 7��7.50 �5.�1� �/ 0 3�� 47�0 5-� 1���, 7� 9 �� � 117� 5-� 1.�8 76� �7�
�7430 � -1= �5, 7�4�� 8 7��� � � ��.? -5� , �0 30 �/ �A-� B��.5� 4�0 .�.� � 1�0 .�5, 7�� � � ��-.�� 3� .7� ���> 57�10 3�0 30 �/ .�A�� �BC�A<� �B��.5� 4�0 .�.� � 1�0 .�5, 7�7> 57�10 3�� -= -50 3�
-1425�-.�� -.0 8 37� �� , 7�0 30 �/ �/ 7..0 = 7�-.�� -.430 :7� �215-3�5, 7�0 30 �/ �� � 1� -5-� 1�-.��7� � < 7�:��� 33�5, 7�0 30 �/ �/ 7..0 = 7.�0 �7�., � ? 7� �0 357�10 5-1= �? -5, �5, 7��� � / �
57/ 47�0 52�7�7> � 745�6� ��5, 7�A��B�? , -� , �-.�630 ., -1= ��

�' � " ��# � ��� ���� " � �

# ��, �
� 8�.736�7> 5-1= 2-., -1= �� � � G���, �8�6�� 150 3����> ����/ / G�� 745, �)�/ / G�� ��
��
� 8�� 77�40 ����G��
�������
8�������

��

�����
, 8�� � �7? �57�/ -10 3�8 3� � 9 �≤��C��/ / ��? -�-1= ��

��7 �
�, �		�18����% 0 � ������* N �±���O �� �����% 0 � ������* N �±���O G���7 �
��<, �
	���
8��) % � �/ 0 > ��
��, 	��1@��� -= -5.C��7� �
 �� C������/ / �, -= , G���� -= -5.C�:733� ? �
 �� �3� ? ��
�
	��, @����  ��� ��� ����� 8 7.�
��� ������
	��, �8�� � � ��.? -5� , �0 1� �� � 16-= 2�0 8 37C�6�77�< � 350 = 7��" 0 > ��� -.50 1� 7���/ �

� ���1����	��, 8�
���	
�, , �
��8��730 :�� ��  ���&)(�� C����% 0 � G�
���	
�, , �
�$8��730 :�� ��  ���&)(�� C����% 0 � G�
-�+
�, �8��730 :�� ��  ���&�(�� C����% 0 � G�
��� * �8��730 :�� ��  ����� C����% 0 � G�
+�
, 8��730 :�� ��  �)&�(�� C����% 0 � E�
���
�8��730 :�� ��  �)&�(�� C����% 0 � E�

��* �
����	��8� ��
����� �' @ : �&� 45-� 10 3(�
�����, ��
�
� @�� 1�5, 7�1� 1D< � 30 5-37�/ 7/ � �:�&����!" (��
0 �
-��+������
8��� �G���������
�� 
�-�8�1� �/ 0 3G���+�7 �
�����, , 8�� ��
�	�
���
� ����	�
���
�8��I ���J��G����
�� �����	�
���
�8�D��I ���J����
� �����D ��* ���-��18���÷)�O �&1� �� � 1� 71.-1= (�
� ��, �
�
� ��
-�
�� ������
�
�
� �8�� " ��	
�<�8�D��I ���J��&D�)I ���J$ (G�
� �, ������
8��C��J��� ���J��� ����J$ �&.737� 50 8 37(��
� ���
��1@�&0 / 8 -715�57/ 4����J�(@��P �C��J��P ��� -= -5�

�: � � �� �� � ���� � ��" ��� ��

�

�(� �� � ! �" ���" " �� � �; � �! ���

��<��� � ���� � �
� �� ��+����� ��D ���

� � �� ! �� " ��� � � � �

����� � 75�4� -15��� 
 � �I # � �� D�� ����

���$� � 75�4� -15��� 
 � �I # � �� �� ����
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 �����
 � ���������������� � � � ������� ������

��<��� � ���� � �
� �� ��+����� ��D ���

# 1�� � -667�715-0 3��� �C�I ��C��J�����I ��J$ � ���� ����

# 1$� � -667�715-0 3��� �C�I ��C��J�����I ��J$ � ���� ����

� � �� ! �� " ��� �C����" ��� ��� � � �

���� " -1-/ 2/ �.75�4� -15��3-/ -5� D��C�J�I � � ����D�)J$ I � � �� D����� ����

! ��� " 0 > -/ 2/ �.75�4� -15��3-/ -5� � � ��I ����J����� � ��I ����J$ � ���� ����

�-��� !25425.�0 � 5-< 0 5-� 1�� 730 :�� 6�.7� 5����0 5�.50 �5�24� �I ����/ -1�� �� ����

� ��� � 15-D., � �5�� :� 37�� 730 :�6� ��� � / 4�7..� ��� �I ���/ -1�� �� ����

��
�� �� / 4�7..� ���!� �5-/ 7�? -5, �60 235:�4�� 8 7�� �I ����/ -1�� ��� ����

�� �� �� / 4�7..� ���!$ $ �5-/ 7�? -5, �60 235:�4�� 8 7�� �I ����/ -1�� ��� ����

�# �� + -1� �� 6�0 � 5-� 1�6� ��.7� 5-� 1��� � 
 ���* 5� � 
 � ����

� � �� ! �� " ��� �C����" ��� �$� � � �

��$� " -1-/ 2/ �.75�4� -15��3-/ -5� D��C�J�I � � ����D�)J$ I � � �� D����� ����

! �$� " 0 > -/ 2/ �.75�4� -15��3-/ -5� � � ��I ����J����� � ��I ����J$ � ���� ����

�-�$� !25425.�0 � 5-< 0 5-� 1�� 730 :�� 6�.7� 5����0 5�.50 �5�24� �I ����/ -1�� �� ����

� �$� � 15-D., � �5�� :� 37�� 730 :�6� ��� � / 4�7..� ��� �I ���/ -1�� �� ����

��
$� �� / 4�7..� ���!� �5-/ 7�? -5, �60 235:�4�� 8 7�� �I ����/ -1�� ��� ����

�� $� �� / 4�7..� ���!$ $ �5-/ 7�? -5, �60 235:�4�� 8 7�� �I ����/ -1�� ��� ����

�# $� + -1� �� 6�0 � 5-� 1�6� ��.7� 5-� 1��� � 
 ���* 5� � 
 � ����

� ������ %� � � �

� �  7/ 47�0 52�7�/ 70 .2�7/ 715�21-5� J����J$ � J�� ����


��� �7.� 325-� 1�&6� ��J�� -1�I �� 7� � �� ����

��-�� � � 55� / �� -.430 :�< -.20 3-N 0 5-� 1� ���I ���� ��� ����

��-$� # 447��� -.430 :�< -.20 3-N 0 5-� 1� ���I ���� ��� ����

� �� � ��" � � � �

- �� �730 5-� 1�8 75? 771�� 76�� .5.� -1� G�� 5� G�� 5-C�� �� -1� � ����

�- �� + -1� �� 6�� 76�� .5�.7� 5-� 1��� ��C�-1� ��� ����

�- �� � 76�� .5�/ � � 7C�.7� 5-� 1��� �1C�� � C� �� -1� ����

�- �� � 75�4� -15��6� ���� / 0 �5�� 76�� .5�.7� 5-� 1��� D���I �K ��J����D��I K )�J$ � �� ����

-���� �1� �� 76�� .5�57/ 47�0 52�7�.7� 5-� 1��� D��C�I ���J���D�)I ���J$ � ���� ����

�- �� �157�< 0 3�8 75? 771�� 76�� .5.C�.7� 5-� 1��� �I ���� �7� �� ����

� - �� " 0 > -/ 2/ �� 2�0 5-� 1�� 6�� 76�� .5C�.7� 5-� 1��� �I ����/ -1�� ��� ����

�� �� ��7D� 76�� .5�� � / 4�7..� ��� 1�5-/ 7� �I ���/ -1�� �� ����

 -��� � �-44-1= �5-/ 7�.7� 5-� 1������ �I ���/ -1�� �� ����

-���� � 76�� .5�0 5�4� ? 7��� 1�.7� 5-� 1����� 1�I �:� 1� ����

�- $� � 76�� .5�/ � � 7C�.7� 5-� 1��@� �1C�� � C�� �� -1� ����

�- $� �157�< 0 3�8 75? 771�� 76�� .5.C�.7� 5-� 1��� �I ���� �7� )� ����

� - $� &" 0 > -/ 2/ (�� 2�0 5-� 1�� 6�� 76�� .5C�.7� 5-� 1��� �I ����/ -1�� ��� ����

- -� � -.430 :�� 2�-1= �� 76�� .5� �5C�-5C�� �5C�� �$ C�� �
 � -5� ����

-� -� � 76�� .5�� -.430 :�5-/ 7�� 25� �I ����/ -1�� ��� ����

-�-� � 76�� .5�� 730 :� �I ����/ -1�� �� ����

�  � � �� � � �

 
��� $ 0 1.�� 47�0 5-1= �/ � � 7C�.7� 5-� 1��� �D1C��D:C�!D1C�!D:� !D1� ����

 
-�� $ 0 1.�� 730 :�0 657��� 76�� .5C�.7� 5-� 1��� �I ����/ -1�� ��� ����

 ���� $ 0 1.�.5� 4�57/ 47�0 52�7C�.7� 5-� 1��� D��C�I ���J���D�)I ���J$ � ���� ����

 � ��� ��� 8 7�6� ��60 1.� ��I ��� ��� ����

� � �� � � � � � �

� ����  7/ 47�0 52�7�0 30 �/ .�� � 16-= 2�0 5-� 1C�.7� 5-� 1��� ������ 8 � � 8 � ����

� ���� " 0 > -/ 2/ �0 30 �/ C�.7� 5-� 1��� D��C�I ���J���D�)I ���J$ � ���� ����

� ���� " -1-/ 2/ �0 30 �/ C�.7� 5-� 1��� D��C�I ���J���D�)I ���J$ � D����� ����

� �-��  7/ 47�0 52�7�0 30 �/ �� 730 :C�.7� 5-� 1��� �I ����/ -1�� ��� ����

-� ��� � 730 :�� 6�57/ 4��0 30 �/ �0 5�.50 �5D24C�.7� 5-� 1��� ��I ���, ����/ -1�� ���� ����

� ��$�  7/ 4��0 30 �/ .�� � 16-= 2�0 5-� 1C�.7� 5-� 1��� �7�I �� 8 � � 8 � ����

� ��$� " 0 > -/ 2/ �0 30 �/ C�.7� 5-� 1��� D��C�I ���J���D�)I ���J$ � ���� ����

� ��$� " -1-/ 2/ �0 30 �/ C�.7� 5-� 1��� D��C�I ���J���D�)I ���J$ � D����� ����

� �-$�  7/ 47�0 52�7�0 30 �/ �� 730 :C�.7� 5-� 1��� �I ����/ -1�� ��� ����

-� �$� � 730 :�� 6�57/ 4��0 30 �/ �0 5�.50 �5D24C�.7� 5-� 1��� ��I ���, ����/ -1�� ���� ����

�  # �  7/ 47�0 52�7�0 30 �/ �0 1� �60 1�� -667�715-0 3� �C�I ��C��J�����I ��J$ � ���� ����
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��<��� � ���� � �
� �� ��+����� ��D ���

�-� � � 30 �/ �� 730 :�0 5�5, 7�71� �� 6�� 76�� .5� �I ����/ -1�� ��� ����

-��� � 730 :�� 6�57/ 4��0 30 �/ �0 657��� 3� .-1= �5, 7�� � � �� �I ����/ -1�� ��� ����

-�� � !471�� � � ��0 30 �/ �� 730 :� �I ����/ -1�C�12� ��� ����

�<�� + -1� �� 6�4�� 8 7� � ��15� � 15� � ����

� � � � ��� ! ���� �! " �� � � �

� ���  , 7�/ � .50 5��4�� 8 7�� 0 3-8 �0 5-� 1� D��C�I ��C�J����D��I ��J$ � ���� ����

� �$�  , 7�/ � .50 5��4�� 8 7�� 0 3-8 �0 5-� 1� D��C�I ��C�J����D��I ��J$ � ���� ����

� �3 � �< 0 4� �0 5� ��4�� 8 7�� 0 3-8 �0 5-� 1� D��C�I ��C�J����D��I ��J$ � ���� ����

�$��  , 7�/ � .50 5��4�� 8 7�4�7.71� 7� 1���:� '� ����

�3 �� �< 0 4� �0 5� ��4�� 8 7�4�7.71� 7� 1�I �:� '� ����

� ��� �" � ���� �! " �� � � �

���� � -= -50 3�-1425���4� 30 �-5:� � 
 I !�� � 
 � ����

�� � � -= -50 3�-1425���� 47�0 5-1= �/ � � 7�
" ��G�" ��C�" �G��� �G��� �G��� 
 G�8 � �G�8 � �G�C�
8 � 
 G�� $ �G�� $ �G�� �$ G��� $ �G�� $ �G�� $ $ G��� �

�� 
 � ����

�$�� � -= -50 3�-1425���4� 30 �-5:� � 
 I !�� � 
 � ����

�$ � � -= -50 3�-1425���� 47�0 5-1= �/ � � 7�
" ��G�" ��C�" �G��� �G��� �G��� 
 G�8 � �G�8 � �G�C�
8 � 
 G�� $ �G�� $ �G�� �$ G��� $ �G�� $ �G�� $ $ G��� �

�� 
 � ����

�-��� �� / 4��0 1� �60 1�.50 52.�? , 71�� 471�� � � �C�.7� 5��� 1� C�$ 0 1C����C�$ � �� 1� � ����



-�� !25425.��7.50 �5�0 657��� � � ��� 471�0 30 �/ C�.7� 5���� 1C�:� '� ����

-�-��  -/ 7�-157�< 0 3�� 730 :�6� ��� -= -50 3�-1425�0 30 �/ C�.7� 5���� �I ����/ -1�� �� ����

�-�$� �� / 4��.50 52.�? , 71�� 471�� � � �C�.7� 5-� 1��@� 1� C�$ 0 1C����C�$ � �� 1� � ����



-$� !25425.��7.50 �5�0 657��� � � ��� 471�0 30 �/ C�.7� 5���� 1C�:� '� ����

-�-$�  -/ 7�-157�< 0 3�� 730 :�6� ��� -= -50 3�-1425�0 30 �/ C�.7� 5���� �I ����/ -1�� �� ����

� �" # �� � � � �

�� (� � 2> -3-0 �:�� 25425�� � 16-= 2�0 5-� 1� � ������ ������ $ ����� $ ����$ 1����$ 1����
 = ����
 = ����

� 1����� 1����� 8 ����� 8 ����� 
 ��
� 3�� ����

�<� � � 30 �/ ��730 :�.-371� -1= � 1�H�'� '� ����

� ��� � 30 �/ ��730 :�4� 30 �-5:� � 
 �D�� �� � 
 � ����

# ����  7/ 4��-1� �70 .7�� 2�-1= �5, 7��17�= :�� 0 < -1= �� :� 37C�.7� 5���� D��I ��J����D��I ��J$ � �� ����

# ��$�  7/ 4��-1� �70 .7�� 2�-1= �5, 7��17�= :�� 0 < -1= �� :� 37C�.7� 5-� 1��� D��I ��J����D��I ��J$ � �� ����

� " �� ��� � ��� ��0 �%�# ����� %��4�� �%�� �" # �� " �5� � � �

# �
� �2��715�, � 2�� ��I ���� �� ����

� �
� �2��715�/ -1257� ��I ���� �� ����

-� %� �2��715�� 0 :� � 21�I �� � 5� � 21� ����

# -�� $ -�.5�? 779 3:�, � 3-� 0 :� � 21�I �� � 5�H�12� 12� ����

# -$� � 7� � 1� �? 779 3:�, � 3-� 0 :� � 21�I �� � 5�H�12� 12� ����

# -3 �  , -�� �? 779 3:�, � 3-� 0 :� � 21�I �� � 5�H�12� 12� ����

� �� �� � %��� ; �� � �" �� ���4�� �%�� �" # �� " �5� � � �

���� �17�= :�� 0 < -1= �� :� 37�.50 �5�� 2�-1= �? � �9 � 0 :.� ��I ���, ����/ -1�� �� ����

-��� �17�= :�� 0 < -1= �� :� 37�371= 5, �� 2�-1= �? � �9 � 0 :.� ��I ���, ����/ -1�� �� ����

���� �17�= :�� 0 < -1= �� :� 37�.50 �5�� 1�, � 3-� 0 :.� ��I ���, ����/ -1�� �� ����

-��� �17�= :�� 0 < -1= �� :� 37�371= 5, �� 1�, � 3-� 0 :.� ��I ���, ����/ -1�� �� ����

� �� � ��" �" �� ���4�� �%�� �" # �� " �5� � � �

��-�� �.5�? � �9 � 0 :.�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� ���� ����

��-$� �1� �? � �9 � 0 :.�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� ����� ����

��-3 � ��� �? � �9 � 0 :.�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� ����� ����

��-' � �5, �? � �9 � 0 :.�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� 12� ����

��-: � �5, �? � �9 � 0 :.�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� 12� ����

��-(� �5, �? � �9 � 0 :.�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� 12� ����

��-�� �.5�, � 3-� 0 :�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� ���� ����

��-$� �1� �, � 3-� 0 :�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� ����� ����

��-3 � ��� �, � 3-� 0 :�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� ����� ����

��-' � �5, �, � 3-� 0 :�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� 12� ����

��-: � �5, �, � 3-� 0 :�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� 12� ����

��-(� �5, �, � 3-� 0 :�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� 12� ����

�$-�� �.5�? � �9 � 0 :.�� 76�� .5�.50 �5��&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� ���� ����

�$-$� �1� �? � �9 � 0 :.�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� ����� ����

�$-3 � ��� �? � �9 � 0 :.�� 76�� .5�.50 �5�&� 7� 5-� 1��(� ��I ���, ����/ -1��D�12� ����� ����
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